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Shawl Brocéliande 

 

Material : 

 

- needles n°5,5mm. 

- 1 cable needle. 

- 2 skein of cascade yarns Alpaca Lana d’Oro. 

- 4 stitch markers. 

 

You will use : 

Stocking stitch, garter stitch. 

Cable : the cable of this shawl is made with 3 stitches. 

 

Abbreviations : 

K: knit 

P: purl 

SKP : Slip 1,knit 1, pass slip over knit 1 

P2btog : purl 2 stitches twisted together 

K2btog: knit 2 stitches twisted together 

P2tog: purl 2 stitches together 

K2tog: knit 2 stitches together 

Yo : Yarn Over 

M: Stitche Marker 

SS: selvedge stitche 

1/2RC: Slip 1 to cable needle and hold to back, K2, K1 from cable needle 

2/1LC : Slip 2 to cable needle and hold to front, K1,K2 from cable needle 

Inc : Increase :Add 1stitche in a row : knit into the front and the back of the stitche. 

Dec : decrease, reduce the stitches in a row :knit 2 together 

Be carefull : when you will bind off in the rows 6,12,18 and 24 : purl the 7 stitches. 
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Work: 

Cast on 24 stitches : K4 (straight border of the shawl) ,1M, K (part in 

stocking stitch with inc or dec), M, [K11] (cable and lace part), M, K8 (lace 

points). 

Knit 4 rows in garter stitch. 

Part 1 : Increasing A 

(For this part increase in the rows : 1, 5, 7, 9, 13, 15, 19, 21,23.) 

 

Row1(Right Side ) : SS, YO, K2btog, K, M, K 1inc, M, [K2btog, Yo, K2btog, 

Yo, K2btog, Yo, K5], M, K2, Yo, P2tog, K2, Yo, K2. 

Row 2(Wrong Side) = rows 8, 14, and 20: P5, Yo, P2tog, P2, M, [P11], 

M, PX, M, Yo, K2btog, K2. 

Row 3 : SS, YO, K2btog, K, M, XK , M, [K,K2btog,Yo, K2btog,Yo 

,K,1/2RC,K2] ,M,K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 4 = rows 10,16 and 22: P7, Yo, P2tog, P2, M, [P11], M, PX, M, Yo, 

K2btog, K2. 

Row 5: SS, YO, K2btog, K M, XK 1inc, M,[K2,K2btog,Yo,K,1/2RC, K3],M, 

K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 6 = 12,18 and 24: Bind off P7, P3, Yo, P2tog, P2, M, [P11], M, PX, 

M, Yo, K2btog, K2. 

Row 7 : SS, YO, K2btog, K, M, XK 1inc, M, [K4, 1/2RC, K4], M, K2, Yo, 

P2tog, K2, Yo, K2. 

Row 8 = row 2 

Row 9 : SS, YO, K2btog, K, M, XK 1inc, M,[K3, 1/2RC,K,Yo,SKP,K2],M, 

K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 10 = row 4 

Row 11 : SS, YO, K2btog, K, M, XK, M, [K2,1/2RC,K,Yo,SKP,Yo,SKP,K] ,M, 

K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 12=row 6 
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Row 13 : SS, YO, K2btog, K, M, XK 1inc, M,[ K5, (Yo, SKP) 3 times], M, K2, 

Yo, P2tog, K2, Yo, K2. 

Row 14 =row 2 

Rang 15 : SS, YO, K2btog, K, M, XK 1inc, M, [K2,2/1LC, K, (Yo,SKP) 2 

times , K] M,K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 16 =row 4 

Row 17 : SS, YO, K2btog, K, M, XK, M,[K3, 2/1LC,K,Yo,SKP,K2],M, K2, 

Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 18=row 6 

Row 19: SS, YO, K2btog, K, M, XK 1inc, M,[K4, 2/1LC, K4],M K2, Yo, P2tog, 

K2, Yo, K2. 

Row 20 = row 2 

Row 21: SS, YO, K2btog, K, M, XK 1inc, M, [K2,K2btog,Yo,K, 2/1LC,K3] ,M, 

K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 22 = row 4 

Row 23: SS, YO, K2btog, K, M, XK 1inc, M ,[K,(K2btog,Yo) 2 times,K, 

2/1LC,K2] ,M, K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 24=row 6 

Do 3 times these 24 rows (In all 72 rows for this part) 
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Part 2 : Increasing B 

 In this part : increase one stitche in all rows on the right side. 

 

 

Row1(Right Side ) : SS, YO, K2btog, K, M, XK 1inc, M, [K2btog, Yo, K2btog, 

Yo, K2btog, Yo, K5], M, K2, Yo, P2tog, K2, Yo, K2. 

Row 2(Wrong Side) = rows 8, 14, and 20: P5, Yo, P2tog, P2, M, [P11], 

M, PX, M, Yo, K2btog, K2. 

Row 3 : SS, YO, K2btog, K, M, XK 1inc, M, [K,K2btog,Yo, K2btog,Yo 

,K,1/2RC,K2] ,M,K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 4 = rows 10,16 and 22: P7, Yo, P2tog, P2, M, [P11], M, PX, M, Yo, 

K2btog, K2. 

Row 5: SS, YO, K2btog, K M, XK 1inc, M,[K2,K2btog,Yo,K,1/2RC, K3],M, 

K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 6 = 12,18 and 24: Bind off P7, P3, Yo, P2tog, P2, M, [P11], M, PX, 

M, Yo, K2btog, K2. 

Row 7 : SS, YO, K2btog, K, M, XK 1inc, M, [K4, 1/2RC, K4], M, K2, Yo, 

P2tog, K2, Yo, K2. 

Row 8 = row 2 

Row 9 : SS, YO, K2btog, K, M, XK 1inc, M,[K3, 1/2RC,K,Yo,SKP,K2],M, 

K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 10 = row 4 

Row 11 : SS, YO, K2btog, K, M, XK 1inc, M, [K2,1/2RC,K,Yo,SKP,Yo,SKP,K] 

,M, K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 12=row 6 

Row 13 : SS, YO, K2btog, K, M, XK 1inc, M,[ K5, (Yo, SKP) 3 times], M, K2, 

Yo, P2tog, K2, Yo, K2. 

Row 14 =row 2 
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Rang 15 : SS, YO, K2btog, K, M, XK 1inc, M, [K2,2/1LC, K, (Yo,SKP) 2 

times , K] M,K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 16 =row 4 

Row 17 : SS, YO, K2btog, K, M, XK 1inc , M,[K3, 2/1LC,K,Yo,SKP,K2],M, 

K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 18=row 6 

Row 19: SS, YO, K2btog, K, M, XK 1inc, M,[K4, 2/1LC, K4],M K2, Yo, P2tog, 

K2, Yo, K2. 

Row 20 = row 2 

Row 21: SS, YO, K2btog, K, M, XK 1inc, M, [K2, K2btog,Yo,K, 2/1LC,K3] 

,M, K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 22 = row 4 

Row 23: SS, YO, K2btog, K, M, XK 1inc, M ,[K,(K2btog,Yo) 2 times,K, 

2/1LC,K2] ,M, K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 24=row 6 

Repeat these 24 rows two times (In all 48 rows for this part) 
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Part 3 : Center of the shawl : 

On 24 rows with,                                                       
      Increasing of one stitche in rows : 1,3,5,7,9 and 11.                        

And decreasing of one stitche in rows 13,15,17,19,21, and 23. 

 

Row1(Right Side ) : SS, YO, K2btog, K, M, XK 1inc, M, [K2btog, Yo, K2btog, 

Yo, K2btog, Yo, K5], M, K2, Yo, P2tog, K2, Yo, K2. 

Row 2(Wrong Side) = rows 8, 14, and 20: P5, Yo, P2tog, P2, M, [P11], 

M, PX, M, Yo, K2btog, K2. 

Row 3 : SS, YO, K2btog, K, M, XK 1inc, M, [K,K2btog,Yo, K2btog,Yo 

,K,1/2RC,K2] ,M,K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 4 = rows 10,16 and 22: P7, Yo, P2tog, P2, M, [P11], M, PX, M, Yo, 

K2btog, K2. 

Row 5: SS, YO, K2btog, K M, XK 1inc, M,[K2,K2btog,Yo,K,1/2RC, K3],M, 

K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 6 = 12,18 and 24: Bind off P7, P3, Yo, P2tog, P2, M, [P11], M, PX, 

M, Yo, K2btog, K2. 

Row 7 : SS, YO, K2btog, K, M, XK 1inc, M, [K4, 1/2RC, K4], M, K2, Yo, 

P2tog, K2, Yo, K2. 

Row 8 = row 2 

Row 9 : SS, YO, K2btog, K, M, XK 1inc, M,[K3, 1/2RC,K,Yo,SKP,K2],M, 

K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 10 = row 4 

Row 11 : SS, YO, K2btog, K, M, XK 1inc, M, [K2,1/2RC,K,Yo,SKP,Yo,SKP,K] 

,M, K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 12=row 6 

Row 13 : SS, YO, K2btog, K, M, XK 1 Dec, M,[ K5, (Yo, SKP) 3 times], M, 

K2, Yo, P2tog, K2, Yo, K2. 

Row 14 =row 2 



 

 

7 

Rang 15 : SS, YO, K2btog, K, M, XK 1 Dec, M, [K2,2/1LC, K, (Yo,SKP) 2 

times , K] M,K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 16 =row 4 

Row 17 : SS, YO, K2btog, K, M, XK 1 Dec, M,[K3, 2/1LC,K,Yo,SKP,K2],M, 

K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 18=row 6 

Row 19: SS, YO, K2btog, K, M, XK 1 Dec, M,[K4, 2/1LC, K4],M K2, Yo, 

P2tog, K2, Yo, K2. 

Row 20 = row 2 

Row 21: SS, YO, K2btog, K, M, XK 1 Dec, M, [K2,K2btog,Yo,K, 2/1LC,K3] 

,M, K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 22 = row 4 

Row 23: SS, YO, K2btog, K, M, XK 1Dec, M ,[K,(K2btog,Yo) 2 times,K, 

2/1LC,K2] ,M, K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 24=row 6 
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Part 4 : decreasing B 

Decreasing of one stitche in every right side’s rows. 

 

Row1(Right Side ) : SS, YO, K2btog, K, M, XK Dec, M, [K2btog, Yo, K2btog, 

Yo, K2btog, Yo, K5], M, K2, Yo, P2tog, K2, Yo, K2. 

Row 2(Wrong Side) = rows 8, 14, and 20: P5, Yo, P2tog, P2, M, [P11], 

M, PX, M, Yo, K2btog, K2. 

Row 3 : SS, YO, K2btog, K, M, XK 1 Dec, M, [K,K2btog,Yo, K2btog,Yo 

,K,1/2RC,K2] ,M,K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 4 = rows 10,16 and 22: P7, Yo, P2tog, P2, M, [P11], M, PX, M, Yo, 

K2btog, K2. 

Row 5: SS, YO, K2btog, K M, XK 1 Dec, M,[K2,K2btog,Yo,K,1/2RC, K3],M, 

K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 6 = 12,18 and 24: Bind off P7, P3, Yo, P2tog, P2, M, [P11], M, PX, 

M, Yo, K2btog, K2. 

Row 7 : SS, YO, K2btog, K, M, XK 1 Dec, M, [K4, 1/2RC, K4], M, K2, Yo, 

P2tog, K2, Yo, K2. 

Row 8 = row 2 

Row 9 : SS, YO, K2btog, K, M, XK 1 Dec, M,[K3, 1/2RC,K,Yo,SKP,K2],M, 

K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 10 = row 4 

Row 11 : SS, YO, K2btog, K, M, XK 1 Dec, M, 

[K2,1/2RC,K,Yo,SKP,Yo,SKP,K] ,M, K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 12=row 6 

Row 13 : SS, YO, K2btog, K, M, XK 1 Dec, M,[ K5, (Yo, SKP) 3 times], M, 

K2, Yo, P2tog, K2, Yo, K2. 

Row 14 =row 2 

Rang 15 : SS, YO, K2btog, K, M, XK 1 Dec, M, [K2,2/1LC, K, (Yo,SKP) 2 

times , K] M,K2,Yo, P2tog,K2, Yo, K, Yo,K2. 
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Row 16 =row 4 

Row 17 : SS, YO, K2btog, K, M, XK 1Dec , M,[K3, 2/1LC,K,Yo,SKP,K2],M, 

K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 18=row 6 

Row 19: SS, YO, K2btog, K, M, XK 1 Dec, M,[K4, 2/1LC, K4],M K2, Yo, 

P2tog, K2, Yo, K2. 

Row 20 = row 2 

Row 21: SS, YO, K2btog, K, M, XK 1 Dec, M, [K2,K2btog,Yo,K, 2/1LC,K3] 

,M, K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 22 = row 4 

Row 23: SS, YO, K2btog, K, M, XK 1 Dec, M ,[K,(K2btog,Yo) 2 times,K, 

2/1LC,K2] ,M, K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 24=row 6 

 

Repeat these 24 rows two times (In all 48 rows for this part) 
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Part 5 : decreasing A 

Decreasing are on the rows : 1, 5, 7, 9, 13, 15, 19,21 and 23. 

 

Row1(Right Side ) : SS, YO, K2btog, K, M, XK Dec, M, [K2btog, Yo, K2btog, 

Yo, K2btog, Yo, K5], M, K2, Yo, P2tog, K2, Yo, K2. 

Row 2(Wrong Side) = rows 8, 14, and 20: P5, Yo, P2tog, P2, M, [P11], 

M, PX, M, Yo, K2btog, K2. 

Row 3 : SS, YO, K2btog, K, M, XK, M, [K,K2btog,Yo, K2btog,Yo 

,K,1/2RC,K2] ,M,K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 4 = rows 10,16 and 22: P7, Yo, P2tog, P2, M, [P11], M, PX, M, Yo, 

K2btog, K2. 

Row 5: SS, YO, K2btog, K M, XK 1 Dec, M,[K2,K2btog,Yo,K,1/2RC, K3],M, 

K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 6 = 12,18 and 24: Bind off P7, P3, Yo, P2tog, P2, M, [P11], M, PX, 

M, Yo, K2btog, K2. 

Row 7 : SS, YO, K2btog, K, M, XK 1 Dec, M, [K4, 1/2RC, K4], M, K2, Yo, 

P2tog, K2, Yo, K2. 

Row 8 = row 2 

Row 9 : SS, YO, K2btog, K, M, XK 1 Dec, M,[K3, 1/2RC,K,Yo,SKP,K2],M, 

K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 10 = row 4 

Row 11 : SS, YO, K2btog, K, M, XK, M, [K2,1/2RC,K,Yo,SKP,Yo,SKP,K] ,M, 

K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 12=row 6 

Row 13 : SS, YO, K2btog, K, M, XK 1 Dec, M,[ K5, (Yo, SKP) 3 times], M, 

K2, Yo, P2tog, K2, Yo, K2. 

Row 14 =row 2 

Rang 15 : SS, YO, K2btog, K, M, XK 1 Dec, M, [K2,2/1LC, K, (Yo,SKP) 2 

times , K] M,K2,Yo, P2tog,K2, Yo, K, Yo,K2. 
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Row 16 =row 4 

Row 17 : SS, YO, K2btog, K, M, XK  , M,[K3, 2/1LC,K,Yo,SKP,K2],M, K2, 

Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 18=row 6 

Row 19: SS, YO, K2btog, K, M, XK 1 Dec, M,[K4, 2/1LC, K4],M K2, Yo, 

P2tog, K2, Yo, K2. 

Row 20 = row 2 

Row 21: SS, YO, K2btog, K, M, XK 1 Dec, M, [K2,K2btog,Yo,K, 2/1LC,K3] 

,M, K2,Yo, P2tog,K2, Yo, K, Yo,K2. 

Row 22 = row 4 

Row 23: SS, YO, K2btog, K, M, XK 1 Dec, M ,[K,(K2btog,Yo) 2 times,K, 

2/1LC,K2] ,M, K2, Yo,P2tog, K2, Yo,K,Yo,K,Yo,K,Yo,K2. 

Row 24=row 6 

Repeat these 24 rows 3 times ( In all 72 rows for this part) 

Do 4 rows of garter stitch and bind off the 24 stitches left. 

Fasten off and block the shawl. 

 

 

 

 

 

 

 

 

 

 

 


